MAT 035, Paper Test #3, Spring 2017 Name ‘ KE \f
Instructions: Show all work or you will not receive full credit. Provide exact, fully-reduced answers,
unless specifically asked to round. Be sure to provide complete explanations, and answer all parts of
each question.
1. Organize the data below on ice cream preference and gender into a two-way table. (8 points)
1 2 3 4 5 6 7 8 9 10
Vanilla Strawberry | Chocolate | Vanilla Strawberry | Chocolate | Vanilla Vanilla | Chocolate | Strawberry
Male Male Male Male Male Male Male Male Female Female
11 12 13 14 15 16 17 18 19 20
Chocolate | Vanilla Chocolate | Chocolate | Strawberry | Vanilla Chocolate | Vanilla | Chocolate | Chocolate
Female Female Female Female Female Female Female Female | Female Female
Vanilla Strawberry Chocolate Total
vale | |z 2 2 R
Female
3 2 7 Iz
Total ¥ 4 C? 20
a. How many people in the sample are both male and like strawberry ice cream?
b. If a person was randomly selected from the sample, what is the probability they would like
vanilla and be female?
3
20
c. Ifaperson was random selected from the sample, what is the probability that they would be
female given that they liked chocolate?
d. Are gender and ice cream preference independent in this sample?
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e. Considering onlyice cream preferences, which flavor would be the “modal” flavor? (i.e. which
flavor is most preferred in the sample?)




2. Use the dataset be

slow, to answer the following questions.

[ 8 | 1l | 12 | 16 | 17 l 20 | 20 |
a. Find the mean, median and mode. Round the mean to one decimal place. Does the model
represent the middle of the dataset? (3 points)
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b. Find the five-number summary. (3 points)
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c. Draw a boxpl

ot. (3 points)
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d. Find the standard deviation (2 points)
3. Create a stemplot for the data below. (3 points)
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Note: If you have
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fewer than 5 stems, use a split-stem graph.
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4. Describe the shay

e of each distribution. (6 points)
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5. Use the graph be
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ow to answer the questions that follow. (3 points)
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a. Considering ¢

0

25-34 35-44 45-54 55-64 65+
ne the minimum wage workers, which class (age group) is the modal class?
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b. What percent of overall hourly workers are between the ages of 45 and 54?

c. What percent

Use the data set b

WA
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of minimum wage workers are over the age of 35?

elow to answer the questions that follow. (6 points)

a. Findthe percéntile of the value 87.
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entile of the value 111.

b. Find the perc

c. Whatvaluec

On the graph bel
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deviation of 15. (3 points)

orresponds to P35?
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ow, graph the normal distribution of |Q, with a mean of 100 and a standard
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8. Women have a me
this information to
a. What percent
b. What percent
c. What percent
d. What percent
9.
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your answer or you will receive no credit.) (4 points)
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10. Graph the system

'

of equations and solve the system

— 4y = -8
{J; + Zi _ _1 Write the solution as an ordered pair.
(3 points)
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an height of 64 inches in the US, with a standard deviation of 3 inches. Use
answer the questions below using the Empirical rule. (4 points)
age of the population is between 58 inches and 70 inches?
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age of the population is between 55 inches and 67 inches?
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age of the population is taller than 70 inches?
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ile of the population corresponds to a height of 61 inches?
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The mean score of the ACT is 21 with a standard deviation of 5. Pam scored 28 on the math
portion of her test. The mean score of the SAT math portion is 500, with a standard deviation of

a 680 on this test. Who scored higher on their test? (Show math to justify
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3x 4+ 2y =12

11. Solve the system ; by substitution. (3 points)
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12. You invest $500 in a savings account earning 4% interest compounded monthly. How much
money is in the account after 2.5 years? (3 points)
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13. The cost of building the first new skateboard in a factory is $1540. The cost of producing 80 new

skateboards is $4700. Find a linear equation that models the cost of producing x skateboards.
{3 points)
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